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3 point problems (Séuara 3 povadwv)
1. The higher the step on the podium, the higher the rank of the runner. Who finished third?

‘Ooo uPnAadtepo eivat to BRpa oto Badpo, téoo uPnAotepn ival n B€on tou Spopéa. Molog
TEPUATIOE TPiTOC;

(A) A (B) B (C) C (D) D (E) E

2. In the pictures, each dot stands for 1 and each bar stands for 5.

For example, s stands for 8. Which picture stands for 12?

ZTLG ELKOVEC, KAOE KOUKISO aVTLMTPOGWNEVEL TO 1 KoL KABE pUmdpa avtloToLXeL o 5.

: 00 , , .
MNa napadeypa, onpaivel 8. Mowa elkOva avtlotoxel o€ 12;
PY PP o0 0000
| 1 | |
(A) e— (B) (C) (D) (E)

3. Yesterday was Sunday. What day is tomorrow?
X0 Atav KYPIAKH. T pépa eivan avplo?

(A) Tuesday (B) Thursday  (C) Wednesday (D) Monday (E) Saturday

(A) Tpitn (B) Néurmen (C) Tetaptn (D) Aeutépa (E) 2aBBato
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4. Mom cut the festive cake in half, then she cut one of the halves in half, and again she cut one of the
smaller pieces in half (see the figure). One of the smallest pieces obtained weighs 100 g. How much
does the whole cake weigh?

H papd £ékoe To yLopTivo YAUKLOWUO OTO MO0, £KoYE £va amo Ta LA 0TO ULoO Ko Eava EKoYe Eva
OO TOL KPOTEPA KOUUATL 6TO L0 (BA. Elkdva). Evol omd T ULKPOTEPOL KOMLATLO TTOU £XOUV
AndOei Luyilel 100 ypaupdpia. Moco Juyilelt oOAGKANPO TO YAUKIOHA;

(A) 600 g (B) 800 g (C) 1200 g (D) 1600 g (E) 2000 g
5. Karina cuts out one piece like this from the sheet. Which piece can she get?
H Katepiva KOBEL £va KOUUATL GOV QAUTO anod to GpUANO. Moo KOPUATL UopEL va TAPEL;
& k|&|©
¢ V@
*| K| & o
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6. Three people walked across a field of snow wearing muddy shoes. In which order did they do this?
Tpelg avBpwrnol nepratovoav os €va nedio yLoviov Kat popoloav Aaocntwpéva nanovtoia. Me ol
GELPA TO £KOVAV QLUTO;

(E) . ,;

7. Pia makes shapes with the connected sticks shown in the picture.
H Mapia kavel oxpota pe ta ouvéedepéva papsdia mouv ¢paivovral otnv €KOvaL.

Which of the following shapes needs more sticks than Pia has?
Moo amnod Ta MaPOKATW CXALOTA Aanaltel meplocotepa papsdia and dca £XsL n Mapia;

(A) (B) (€)

(D) (E)
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8. What number should replace the question mark (?) when all the calculations are completed
correctly?
Molog apLOag MPEMEL VAL OVTIKATAOTOEL TO CUMPBOAO «?» Otav £xouv oAokAnpwOei cwotd 6Aot ot
UTnoAoyLopoi;

27

(A) 4 (B)5 (C) 6 (D)7 (E)8

4 point problems (9éuata 4 povadwv)

9. Linda pinned up 3 photos in a row on a cork board using 8 pins.
H EAiva otepéwos 3 pwrtoypadisg otn ocpd o€ Evav nivaka peAlol xpnoionolwvrag 8 Kapditoeg.

Peter wants to pin up 7 photos in the same way. How many pins does he need?
O Métpog B£AeL va Snuoupyroet 7 pwtoypadieg e Tov iSLo Ttpdmo. NMooeg kapditoeg xpetdleta;

(A) 14 (B) 16 (C) 18 (D) 22 (E) 26
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10. Dennis wants to remove one cell from the shape.
O Ntévig OéAeL va adatpeoel Eva KeAL anod to oxfua.

How many of the following shapes can he get?
Nooa amno Ta MAPAKATW CXAHOTA UMOPEL VO TTAPEL;

] | HEE

(A)1 (B) 2 ©3 (D) 4 (E) 5

11. A block of wood as seen in the diagram on the below was split in two pieces. One of the pieces is
shown next to it. Which of the following are the two pieces?

Eva mA£ypa §UAov Onwg paiveTal oTo SLAYPOL OTO TIAPAKATW XWPLoTtnKe o 8§00 Koppatia. Eva
ono ta Koppatia spdavileton SimAa o autd. Mola anod o MAPoKATW £ivol Tot SU0 KOUUATLO;

(A) : (B)

(C) (D)

(E)
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12. The weight of dog toy is a whole number. How much does one dog toy weigh?
To Bapog tou mayvidlol oxuatog okUAoU gival évag aképatog aplOpog. Nooco Luyilet éva matyvidt
oKUAou;

(A) 7 kg (B) 8 kg (C)9 kg (D) 10 kg (E) 11 kg

13. Sara has 16 blue marbles. She can trade marbles in two ways. 3 blue marbles for 1 red marble or 2
red marbles for 5 green marbles. What is the maximum number of green marbles she can get?

H Zdpa £xeL 16 prAe BoAoug. Mmopei va avtaAAdcoeL Toug BOAOUG e U0 TPOTIOUG. 3 UAe BOAOUG
ya 1 KOKKwo BOAO 1} 2 KOKKLWVouG BOAoug yia 5 tpdowvoug BoAoug. Molog sivat o PEYLoTOG aplOuag
NPACLVWV BOAWV TTOU UMOPEL va MAPEL;

(A)5 (B) 10 (C)13 (D) 15 (E) 20

14. Steven wants to write each of the digits 2, 0, 1 and 9 in one of the boxes of the sum.
O ZtéAlog B€AeL va ypa el kaBeva anod ta Pndia 2, 0, 1 ko 9 o€ £va anod ta MAaiolo Tou
aOpoioparog.

+[?

He wants to get the largest possible result. Which digit could he write in the place of the question
mark?

O£AeL va ApEL To peyaAlTtepo Suvato anotédsopa. Moo Pndio Ba pnopolos va ypapet otn Béon
TOU cUUPOAOUL ? ;

(A)Oor/n1 (B) 0 or/n 2 (C) Only/uévo 0 (D) Only/uoévo 1 (E) Only/uoévo 2

15. A full glass of water weighs 400 grams. An empty glass weighs 100 grams. How many grams does a
half-full glass of water weigh?

‘Eva mARpeg notrpt vepo uyilel 400 ypappdapia. Eva adsio motript {uyilel 100 ypappdapta. MNoca
vpappdpla Juyilel oo nARPEG Mot pL VEPO;

400g 10049 7

(A) 150 (B) 200 (C) 225 (D) 250 (E) 300
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16. Edgar builds a cube of small cubes. He already arranged several of them as shown in the figure.
What the smallest number of such cubes he should add in order to finish the work?
O Eutu)Log xtilet évav kKUBo and pKkpoug KUBouG. EXEL 6N opyovwoel TOAAGQ amod autd Onwe
daivetal oto oxfpa. Molog ivat o PIKPOTEPOG APLOUOG TETOLWV KUBWV TTOU MPEMEL VAL TTPOOOETEL yLa
va oAokAnpwOei to £pyo;

(A) 10 (B) 17 (C) 19 (D) 28 (E) 56
5 point problems (3¢uatra 5 povadwv)

17. Each shape stands for a different number. The sum of the three numbers in each row is shown to
the right of the row.

KdBe oxua avimpoownevel S1adopeTiko apldpo. To abpolopa Twv TpLWV aplOpuwv os KABE oelpd
epndaviletan ota SELA TNG OELPAS.

O% Q15
0002
* O Ol16

Which number does the stand for?

Mowov aplOud avtnpoownevEL TO

(A) 2 (B)3 (C) 4 (D)5 (E) 6

18. Anna used 32 small white squares to frame a 7 by 7 picture. How many of these small white
squares does she need to frame a 10 by 10 picture?

H Avva xpnotponoinos 32 Hkpd AEUKA TETPAYwWVA YL VO TTAQLOLWOEL La elkova 7 enti 7. Néoca anod
OlUTA TAL UKPA AEUKA TETPAYwWVA XPELATETAL YLaL VA TAQULOLWOEL pia etkova 10 mti 10;

(A) 36 (B) 40 (C) 44 (D) 48 (E) 52
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19. The pages of a book are numbered 1, 2, 3, 4, 5 and so on. The digit 5 appears exactly 16 times.
What is the maximum number of pages this book could have?

OL oelibeg evog BLBAiou aplBuouvtan 1, 2, 3, 4, 5 kat oUtw KaBeENG. To Yndio 5 epdaviletal akpLpuwg
16 dpopéc. Norog ivat o pPéyLotog aplOpog oeAidwv mou pnopei va £xeL auto to BBAio;

(A) 49 (B) 64 (C) 66 (D) 74 (E) 80

20. A hallway has the dimensions shown in the picture. A cat walks on the dashed line along the
middle of the hallway. How many metres does the cat walk?

Evag S1adpopog £XeL TG Slaotdoelg mou dpaivovral otnv elkova. Mia yata nepnatd ot
SLOKEKOUEVN YPOMUN KOTA KOG TNG LEONG TOU SLadpopou. MNooa péTpa mepmatd n yata;

28 m
s iﬁm
36 m |
(1120m
) 40m ]
(A) 63 (B) 68 (C) 69 (D) 71 (E) 83

21. In a park there are 15 animals: cows, cats and kangaroos. We know that precisely 10 are not cows
and precisely 8 are not cats. How many kangaroos are in the park?

Ze éva MAapKo urtapyxouv 15 {wa: ayeAddeg, yateg Kat Kaykoupo. Nvwpilouvpe otL akptpwg 10 dev eivat
ayeAadeg ko akpBwg 8 Sev eival yateg. Mooa KayKoupo £XEL OTO TAPKO;

(A) 2 (B) 3 (C) 4 (D) 8 (E) 10
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22. A rope is threaded through a plank with holes. How can the other side of this plank look like?
‘Eva oxowi Belovidletal péoa ano pa cavida pe tpuneg. Nwg pnopei va paivetat n aAAn nmAeupd
OUTAG TNG oavidag;

(A) (B) (C)

(D) (E)

23. One of five children Alek, Bartek, Zarek, Darek and Edek has eaten a cookie.
Alek says: "l haven't eaten a cookie."

Bartek says: "l have eaten a cookie."

Zarek says: "Edek hasn't eaten a cookie."

Darek says: "I haven't eaten a cookie."

Edek says: "Alek has eaten a cookie."

Only one child lies. Who has eaten the cookie?

‘Eva ano ta névie naidia AAe§, Baoilng, ZRvwvag, AnpAtpng Ko Eutixiog édaye Eva UMLOKOTO.
O AAeg AécL: «Aev £daya Vol UTLOKOTO».

O BaciAng AésL: "Edaya éva pniokoto."

0 ZRvwvag AégL: "0 EutOylog 6ev édpaye Eva pmLokoto".

O Anuntpng AéeL: "Asv épaya Eva Pniokoto."

O Eutu)tog AgeL: "O AAe§ £xeL dpaeL éva pnmiokoto."

Movo £va rtaidi Aéel PEpata. Molog £xeL pAEL TO UIMLOKOTO;

(A) Alek/ANeE (B) Bartek/Bacilng C) Zarek/Zryvwvag

(D) Darek/Anunteng  (E) Edek/Eutiylog
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24. Emil started to hang up towels using two pegs for each towel as shown in figure 1.
O AwpiAlog ap)LOE va KPERAEL TTETOETEG XPNOLUOTIOLWVTOG U0 HaVTOAAKLO(KOUTOAKOTAPLA) Yia KAOE
netoéta onwg ¢paiveral oto oxnua 1.

Zxua 1
figure 1

He realised that he would have not enough pegs and began to hang up the towels as shown in
figure 2.

Zuveldntonoinoce otL 6ev Oa giXe APKETA PAVTOAGKLA KOL APXLOE VO KPEUAEL TLG TIETOETEG OTIWG
daivetar oto oxpa 2.

Zxua 2
figure 2

Overall, he hung up 35 towels and used 58 pegs. How many towels did Emil hang up in the way
shown in figure 1?

ZUVOALKQ, KpEMAOE 35 METOETEG Kal Xpnolponoinoe 58 pavtaAdkia. Moo METOETEG KPEUOOE O
ALIALOG LE TOV TPOTIO TTOU daiveTal 0To oXAHa 1;

(A)12 (B) 13 (C)21 (D) 22 (E) 23

END / TEAOZ

10



